Astérisque

DORIAN GOLDFELD

Analytic and arithmetic theory of Poincaré series

Astérisque, tome 61 (1979), p. 95-107

http://www.numdam.org/item?id=AST_1979__61__95_0

© Société mathématique de France, 1979, tous droits réservés.

L'accès aux archives de la collection « Astérisque » (http://smf4.emath.fr/ Publications/Asterisque/) implique l'accord avec les conditions générales d'utilisation (http://www.numdam.org/conditions). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.



Article numérisé dans le cadre du programme Numérisation de documents anciens mathématiques http://www.numdam.org/

ANALYTIC AND ARITHMETIC THEORY OF POINCARÉ SERIES

by

Dorian Goldfeld

§1. Define $\Gamma = \mathrm{SL}_2(\mathbf{Z})$ to be the modular group, and let

$$f(z) = \sum_{n=1}^{\infty} a_n e^{2\pi i n z}, \quad g(z) = \sum_{n=1}^{\infty} b_n e^{2\pi i n z},$$

be cusp forms of weight $\,k\,$ for $\,\Gamma\,$ which satisfy the modular relations

$$f(\frac{az+b}{cz+d}) = (cz+d)^k f(z), \quad g(\frac{az+b}{cz+d}) = (cz+d)^k g(z)$$

for all $\begin{pmatrix} a & b \\ c & d \end{pmatrix}$ $\in \Gamma$. We are concerned with the general problem of estimating sums of the type

(1.1)
$$\sum_{n=0}^{\infty} a_n \overline{b_{n+m}}$$
 $(m \in \mathbf{z}, m \text{ fixed}),$

and shall show that the solution to this problem is invariably based on the analytic and arithmetic properties of Poincaré series.

The special case, m=0, of (1.1) has for the past forty years been the object of rather extensive research and has its origins in the papers of Rankin and Selberg. In [R] and [S1] it is shown that the L-function

$$L_{f,g}(s) = \sum_{n=1}^{\infty} a_n \overline{b_n} n^{-s}$$

has a meromorphic continuation to the entire complex s-plane and satisfies the functional equation

$$R_{f,q}(s) = R_{f,q}(2k-1-s)$$

where

$$R_{f,q}(s) = (2\pi)^{-2s} \Gamma(s) \Gamma(s-k+1) \zeta(2s-2k+2) L_{f,q}(s)$$
.

Moreover, $L_{f,g}(s)$ is regular except for poles corresponding to the complex zeros of $\zeta(2s-2k+2)$ and a simple pole at s=k with residue

$$\alpha = 12 \frac{(4\pi)^{k-1}}{\Gamma(k)} < f, g >$$

where

$$\langle f, g \rangle = \iint_{D} f(z) \overline{g(z)} y^{k} \frac{dxdy}{y^{2}}$$

is the usual Petersson inner product (over a fundamental domain D for Γ) for forms of weight k.

The functional equation (1.2) was obtained by analyzing the inner product $\langle f, qE(*,s) \rangle$ where

$$E(z,s) = \sum_{\sigma \in \Gamma_{\infty} \setminus \Gamma} (\operatorname{Im} \sigma z)^{s}, \qquad \Gamma_{\infty} = \{\sigma \in \Gamma; \quad \sigma^{\infty} = \infty\}$$

is the non-holomorphic Eisenstein series which satisfies the properties

(1.3)
$$E(\sigma z, s) = E(z, s)$$
, for all $\sigma \in \Gamma$

(1.3)
$$E(\sigma z, s) = E(z, s),$$
 for all $\sigma \in \Gamma$
(1.4) $\Delta E(z, s) = s(1-s)E(z, s),$ $\Delta = -y^2(\frac{\partial^2}{\partial x^2} + \frac{\partial^2}{\partial y^2})$

(1.5)
$$\pi^{-s}\Gamma(s)\zeta(2s)E(z,s) = \pi^{-(1-s)}\Gamma(1-s)\zeta(2-2s)E(z,1-s)$$
.

It is of course (1.5) which gives the functional equation (1.2).

In [S2], Selberg returned to the general problem (1.1) and very briefly indicated how to obtain the meromorphic continuation of the function

$$\sum_{n=1}^{\infty} a_n \overline{b_{n+m}} n^{-s}.$$

Unfortunately, this function does not satisfy a functional equation and a suitable generalization of (1.2) to the case $m \neq 0$ requires the use of the non-holomorphic Poincaré series

$$P_{m}(z,s) = \sum_{\sigma \in \Gamma_{m} \setminus \Gamma} (Im \sigma z)^{\frac{1}{2}} I_{s-\frac{1}{2}} (2\pi |m| Im \sigma z) e^{2\pi i m \operatorname{Re} \sigma z}$$

where

$$I_v(y) = \sum_{j=0}^{\infty} (x_j)^{2j+r}/j!\Gamma(j+v+1)$$

is the modified Bessel function of the first kind which grows exponentially

(1.6)
$$\lim_{y\to\infty} \sqrt{y} I_{y}(y) e^{-y} = (2\pi)^{-\frac{1}{2}}.$$

As shown in [NI] and [NE], the Poincaré series $P_{m}(z,s)$ is similar in behavior to the Eisenstein series E(z,s), and in fact satisfied

(1.7)
$$P_m(\sigma z, s) = P_m(z, s)$$
, for all $\sigma \in \Gamma$

(1.8)
$$\Delta P_{m}(z,s) = s(1-s)P_{m}(z,s)$$

(1.9)
$$P_{m}(z,s) - P_{m}(z,l-s) = \frac{2\pi^{S} |m|^{S-\frac{1}{2}} \sigma_{1-2s}(m)}{(2s-1)\Gamma(s)\zeta(2s)} E(z,l-s)$$

where

$$\sigma_{\mathbf{w}}(\mathbf{m}) = \sum_{\substack{d \mid \mathbf{m} \\ d > 0}} \mathbf{d}^{\mathbf{w}}.$$

On the basis of these properties, one obtains the following generalization of the Rankin-Selberg method. Let

$$z_{m}(s) = |\pi m|^{\frac{1}{2}-k} \frac{2^{-s}\Gamma(s)}{\Gamma(s-\frac{3}{2}-k)} \sum_{n=1}^{\infty} a_{n}\overline{b_{n+m}}(\frac{n}{2n+m})^{s} \Gamma(\frac{s}{2},\frac{s+1}{2},s+\frac{3}{2}-k,\frac{m^{2}}{(2n+m)^{2}})$$

where $b_{ij} \equiv 0$ for $u \leq 0$, and

$$F(\alpha,\beta,\eta;\mathbf{w}) = \sum_{m=0}^{\infty} \frac{1}{m!} \frac{\Gamma(\alpha+m)\Gamma(\beta+m)\Gamma(\eta)}{\Gamma(\alpha)\Gamma(\beta)\Gamma(\eta+m)} \mathbf{w}^{m}$$

is the Gauss hypergeometric function which in the special case of (1.10) is just a Legendre function since $\beta-\alpha=\frac{1}{2}$. From the expansion

$$F(\frac{s}{2}, \frac{s+1}{2}, s+\frac{3}{2}-k; \frac{m^2}{(2n+m)^2}) = 1 + \frac{s(s+1)}{4s+6-4k} \frac{m^2}{(2n+m)^2} + \dots$$

it is easily seen that $Z_m(s)$ converges absolutely for Re(s) > k. We show that the function $Z_m(s)$ can be continued to a meromorphic function in the entire s-plane which is regular in $\text{Re}(s) \ge k - \frac{1}{2}$ except for simple poles at the points $s = k - \frac{1}{2} + ir$, where $\frac{1}{2} + r^2$ is an eigenvalue of the Laplace operator for $L^2(\Gamma \setminus H)$. The eigenvalues are discrete and are characterized by the existence of an orthonormal basis of Maass wave forms $\{e_i(z)\}$ satisfying

(1.10)
$$e_{j}(z) = \sum_{n \neq 0} c_{j}(n) \sqrt{y} K_{ir_{j}}(2\pi |n| y) e^{2\pi i n x},$$

(1.12)
$$e_{i}(\sigma z) = e_{i}(z)$$
, for all $\sigma \in \Gamma$,

where

$$K_{v}(y) = \int_{0}^{\infty} e^{-\frac{1}{2}y(u+u^{-1})} u^{v-1} du$$

is the modified Bessel function of the second kind.

THEOREM (1). The function $Z_m(s)$ can be continued to a meromorphic function of order two which is regular in $Re(s) \ge k-\frac{1}{2}$ except for simple poles at the points $s = k - \frac{1}{2} + ir$; with corresponding residues

$$\alpha_{j} = \frac{c_{j}(m)}{2ir_{j}} < f, g\overline{e_{j}} > .$$

Also, s = k is not a pole, and $Z_m(s)$ satisfies the functional equation

$$z_{m}(s) - z_{m}(2k-1-s) = \frac{k+\frac{1}{2} 2k-\frac{3}{2}}{\frac{2}{(2s+1-2k)}} G_{m}(s) R_{f,q}(s)$$

where

$$G_{m}(s) = \frac{\left|m\right|^{k-\frac{1}{2}-s} \sigma_{2s-2k+1}(m)}{\Gamma(k-s)\Gamma(1-k+s)\zeta(2k-2s)\zeta(2-2k+2s)}$$

is invariant for s --> 2k-1-s.

The proof of Theorem (1) is slightly complicated by the fact that the inner product $\langle f, g\overline{P_m} \rangle$ does not converge absolutely for large m. If we look at the Fourier expansion (see [NI]) of the non-holomorphic Poincaré series

(1.13)
$$P_{m}(z,s) = \sqrt{y} I_{s-\frac{1}{2}}(2\pi |m|y) e^{2\pi i mx} + \frac{2\pi^{s} |m|^{s-\frac{1}{2}} \sigma_{1-2s}(m)}{(2s-1) \Gamma(s) \zeta(2s)} y^{1-s} + \sum_{\substack{\ell=-\infty \\ \ell\neq 0}}^{\infty} B_{\ell}(s;m) \sqrt{y} K_{s-\frac{1}{2}}(2\pi |\ell|y) e^{2\pi i \ell x}$$

where

$$B_{\ell}(s;m) = 2 \sum_{c=1}^{\infty} S(\ell,m;c) c^{-1} M_{2s-1} (4\pi c^{-1} (m\ell)^{\frac{1}{2}})$$

$$S(\ell,m;c) = \sum_{\substack{d=1 \ (d,c)=1}}^{c} e^{2\pi i \frac{a\ell+dm}{c}}, \quad ad = 1 \pmod{c}$$

is the Kloosterman sum, and

$$M_{\mathbf{v}}(y(m\ell)^{\frac{1}{2}}) = \begin{cases} J_{\mathbf{v}}(y|m\ell|^{\frac{1}{2}}) & m\ell > 0 \\ I_{\mathbf{v}}(y|m\ell|^{\frac{1}{2}}) & m\ell < 0 \end{cases}$$

it easily follows from (1.6) that

$$|P_m(z,s)| \gg e^{2\pi |m|y}$$
 $(y \longrightarrow \infty)$.

Consequently

$$|f(z)g(z)P_m(z,s)| \gg e^{2\pi(|m|-2)y}$$
 $(y \longrightarrow \infty)$

if $a_1b_1 \neq 0$; and, therefore, the inner product $\langle f, g\overline{P_m} \rangle$ does not make sense for $|m| \geq 1$.

In order to get around this difficulty, define for every $Y \ge 1$

$$\begin{split} & D_{Y} = \{z \in \mathcal{H}; \quad |z| \ge 1, \quad \text{Im } (z) \le Y, \quad 0 \le \text{Re}(z) \le 1\} \\ & A = \{z \in \mathcal{H}; \quad |z| < 1, \quad 0 \le \text{Re}(z) \le 1\} \\ & P_{m}^{*}(z,s) = \sum_{\sigma \in \Gamma_{m} \setminus \Gamma} (\text{Im } \sigma z)^{\frac{1}{2}} I_{s-\frac{1}{2}} (2\pi |m| \text{Im}(\sigma z)) e^{2\pi i m \text{ Re}(\sigma z)} \end{split}$$

where the prime on the summation symbol means to omit the identity matrix from the sum. Since

$$A = \bigcup ' \sigma D$$

$$\sigma \in \Gamma_{\infty} \backslash \Gamma$$

it is immediate that

$$\iint_{A} = \int_{0}^{Y} \int_{0}^{1} - \int_{Y_{1}}^{Y} \int_{0}^{1} = \iint_{D_{Y}}.$$

Hence

$$\begin{array}{ll} \text{(1.15)} & \mathcal{I}_{A}(s) & = \sum\limits_{n=1}^{\infty} \ a_{n}\overline{b_{n+m}} \left(\int_{0}^{Y} - \int_{Y_{1}}^{Y} \right) \ e^{-2\pi \left(2n+m\right) Y} \mathbf{I}_{s-\frac{1}{2}} \left(2\pi \left| m\right| y\right) y^{k-\frac{1}{2}} \, \frac{dy}{y} \\ & - \mathcal{I}_{D_{Y_{1}}}(s) \, . \end{array}$$

Using the transform

$$\int_{0}^{\pi} e^{-\gamma y} I_{s-\frac{1}{2}}(ay) y^{\rho} \frac{dy}{y} = \left(\frac{a}{2\gamma}\right)^{s-\frac{1}{2}} \gamma^{-\rho} \frac{\Gamma(2-\frac{1}{2}+\rho)}{\Gamma(s+\frac{1}{2})} F(\frac{s-\frac{1}{2}+\rho}{2}, \frac{s+\frac{1}{2}+\rho}{2}, s+\frac{1}{2}; \left(\frac{a}{\gamma}\right)^{2}),$$

and letting Y \longrightarrow ∞ in (1.15), it follows from (1.14) that

(1.16)
$$Z_{m}(s+k-1) = \sum_{n=1}^{\infty} a_{n} \overline{b_{n+m}} \int_{0}^{\infty} e^{-2\pi (2n+m) y} I_{s-\frac{1}{2}}(2\pi |m| y) y^{k-\frac{1}{2}} \frac{dy}{y}$$

$$= \iint\limits_{D} f(z) \overline{g(z)} y^{k} P_{m}^{*}(z,s) \frac{dxdy}{y^{2}} + I_{D_{Y}}(s)$$

+
$$\sum_{n=1}^{\infty} a_n \overline{b_{n+m}} \int_{y}^{\infty} e^{-2\pi (2n+m) y} I_{s-\frac{1}{2}} (2\pi |m| y) y^{k-\frac{1}{2}} \frac{dy}{y}$$

and this holds for any fixed Y > 1. Since the second and third terms on the right side of (1.16) are entire functions and $|P_m^*(z,s)| << y^{1-\text{Re}\,(s)} \quad \text{as} \quad y \longrightarrow \infty, \quad \text{it immediately follows that the right side of (1.16) defines an analytic function and gives the analytic continuation of $Z_m(s)$ to the entire complex s-plane.$

To determine the poles of $Z_m(s)$, note that if we define

$$\widetilde{P}_{m}(z,s) = \frac{(\pi|m|)^{S-\frac{1}{2}}}{\Gamma(s+\frac{1}{2})} \sum_{\sigma \in \Gamma_{m} \setminus \Gamma} (\operatorname{Im} \sigma z)^{S} e^{2\pi i m \sigma z}$$

then

$$P_m^*(z,s) - \widetilde{P}_m(z,s)$$

is regular for Re(s) > 0. The analytic continuation of $\widetilde{P}_{m}(z,s)$ was given by Selberg in [S2] by expanding it in terms of an orthonormal basis of eigenfunctions $\{e_{\underline{i}}\}$ satisfying (1.10) - (1.12). The

spectral decomposition of $\widetilde{P}_{m}(z,s)$ is

$$\widetilde{P}_{m}(z,s) = \sum_{j=1}^{\infty} \langle \widetilde{P}_{m}, e_{j} \rangle e_{j}(z) + \frac{1}{4\pi i} \int_{z-i\infty}^{z+i\infty} \langle \widetilde{P}_{m}, E(*,w) \rangle E(z,w) dw.$$

One easily computes that

$$\langle \widetilde{P}_{m}, e_{j} \rangle = \frac{c_{j}(m) \Gamma(s-\frac{1}{2}-ir_{j}) \Gamma(s-\frac{1}{2}+ir_{j})}{\Gamma(2s)}$$

$$\langle \widetilde{P}_{m}, E(\star, w) \rangle = \frac{\sigma_{2w-1}(m) \Gamma(\frac{s-1-w}{2}) \Gamma(\frac{s-2+w}{2})}{\pi^{-w} |m|} \Gamma(\frac{s-1-w}{2}) \Gamma(w) \zeta(2w)$$

It follows that the only poles of $\widetilde{P}(z,s)$ in $Re(s) \ge \frac{1}{2}$ are at $s=\frac{1}{2}+ir_{\frac{1}{2}}$ with corresponding residues

$$\beta_{j} = \frac{c_{j}(m)e_{j}(z)}{2ir_{j}}.$$

There is no pole at s=1 since the inner product of \widetilde{P}_m with a constant function is identically zero. Putting this information back into (1.16) gives

$$Z_{m}(s+k-1) = \sum_{j=1}^{\infty} c_{j}(m) \frac{\Gamma(s-\frac{1}{2}-ir_{j})\Gamma(s-\frac{1}{2}+ir_{j})}{\Gamma(2s)} \langle f, g\overline{e_{j}} \rangle + H_{m}(s)$$

where $H_m(s)$ is regular for $Re(s) \ge \frac{1}{2}$.

The functional equation for $Z_m(s)$ can be easily deduced from (1.9) and the identity

$$\mathbf{I}_{\mathbf{S}-\frac{1}{2}}\left(2\pi\left|\mathbf{m}\right|\mathbf{y}\right) \ - \ \mathbf{I}_{\frac{1}{2}-\mathbf{S}}\left(2\pi\left|\mathbf{m}\right|\mathbf{y}\right) \ = \ \frac{2\ \sin\left(\frac{1}{2}-\mathbf{S}\right)\pi}{\pi}\ K_{\mathbf{S}-\frac{1}{2}}\left(2\pi\left|\mathbf{m}\right|\mathbf{y}\right).$$

One then obtains from (1.16) that

(1.17)
$$Z_{m}(s+k-1) - Z_{m}(k-s) = Q_{m}(s) \iint_{D} f(z) \overline{g(z)} y^{k} E(z,1-s) \frac{dxdy}{y^{2}}$$

where

$$Q_{m}(s) = \frac{2\pi^{S} |m|^{S-\frac{1}{2}} \sigma_{1-2s}(m)}{(2s-1) \Gamma(s) \zeta(2s)}.$$

The Rankin-Selberg method gives

(1.18)
$$\iint\limits_{D} f(z)\overline{g(z)} y^{k} E(z,1-s) \frac{dxdy}{y^{2}} = \int_{0}^{\infty} \int_{0}^{1} f(z)\overline{g(z)} y^{k-s} \frac{dxdy}{y}$$
$$= (4\pi)^{s-k} \Gamma(k-s) L_{f,g}(k-s).$$

On combining (1.17) and (1.18) one immediately obtains the functional equation for $\mathbf{Z}_{\mathbf{m}}(\mathbf{s})$.

 $\S 2$. The arithmetic properties of the classical holomorphic Poincaré series of weight k

$$P_{m}(z) = \sum_{\sigma \in \Gamma_{m} \setminus \Gamma} \frac{e^{2\pi i m} z}{(cz+d)^{k}}, \qquad \sigma = \begin{pmatrix} a & b \\ c & d \end{pmatrix}$$

with Fourier expansion

$$(2.1) P_{m}(z) = \sum_{n=1}^{\infty} \{\delta_{mn} + 2\pi (\frac{n}{m})^{\frac{k-1}{2}} i^{k} \sum_{c=1}^{\infty} s(m,n;c) c^{-1} J_{k-1} (\frac{4\pi}{c} \sqrt{mn}) \} e^{2\pi i n z}$$

lead to some interesting identities similar in spirit to the functional equation in Theorem (1). Since $P_m(z)$ must be a cusp form, it can be expanded in terms of a basis $f_1, f_2...f_n$

$$f_j(z) = \sum_{n=1}^{\infty} a_j(n) e^{2\pi i n z}$$

of the space of holomorphic cusp forms of weight k for Γ . Consequently

(2.2)
$$P_{m}(z) = \frac{\Gamma(k-1)}{(4\pi m)^{k-1}} \sum_{j=1}^{h} \frac{a_{j}(m)}{\langle f_{j}, f_{j} \rangle} f_{j}(z).$$

Equating Fourier coefficients of (2.1) and (2.2)

(2.3)
$$\frac{\Gamma(k-1)}{(4\pi m)^{k-1}} \sum_{j=1}^{h} \frac{a_{j}(m)}{\langle f_{j}, f_{j} \rangle} a_{j}(n) = \delta_{mn} + 2\pi (i)^{k} (\frac{n}{m})^{\frac{k-1}{2}} \sum_{c=1}^{\infty} \frac{s(m, n; c)}{c} J_{k-1} (\frac{4\pi}{c} \sqrt{mn}).$$

Now, using Barnes' representation for the Bessel function

$$J_{k-1}(x) = \frac{1}{4\pi i} \int_{\alpha-i}^{\alpha+i\infty} \frac{\Gamma(\frac{k-1+s}{2})}{\Gamma(\frac{k+1-s}{2})} (\frac{x}{2})^{-s} ds, \quad (1-k < \alpha < 0)$$

and multiplying both sides of (2.3) by $a_{\ell}(m)m^{-W}$, and then summing over all positive integers m, it follows that

$$(2.4) \qquad \frac{\frac{\Gamma(k-1)}{(4\pi)^{k-1}} \sum_{j=1}^{h} \frac{L_{f_{j}, f_{k}}^{(w+k-1)}}{\langle f_{j}, f_{j} \rangle} a_{j}(n) - \frac{a_{k}(n)}{n^{w}} =$$

$$= \frac{(i)^{k} \frac{k-1}{2}}{4 \pi i} \int_{\alpha-i\infty}^{\alpha+i\infty} \frac{\Gamma(\frac{k-1+s}{2}) n^{-s/2}}{(2\pi)^{s-1} (\frac{k+1-s}{2})}$$

$$\sum_{c=1}^{\infty} c^{s-1} \sum_{d=1}^{c} e^{\frac{2\pi i dn}{c}} L_{k} (\frac{s+k-1}{2} + w; \frac{a}{c}) ds$$

where

$$L_{\ell}(s; \frac{a}{c}) = \sum_{m=1}^{\infty} \frac{a_{\ell}(m) e^{\frac{2\pi i a m}{c}}}{m^{s}}, \quad \text{ad} \equiv 1 \pmod{c}.$$

The disadvantage of (2.3) is the appearance of Kloosterman sums on the right hand side. If in (2.4) we apply the functional equation

(2.5)
$$(\frac{c}{2\pi})^{s} \Gamma(s) L_{\ell}(s; \frac{a}{c}) = (i)^{k} (\frac{c}{2\pi})^{k-s} \Gamma(k-s) L_{\ell}(k-s, \frac{-d}{c})$$

then it is easily seen that the Kloosterman sums are transformed into Ramanujan sums which can be evaluated exactly. Ramanujan's identity

$$\sum_{c=1}^{\infty} c^{-2w} \sum_{\substack{d=1\\ (d,c)=1}}^{c} e^{\frac{2\pi i d (m-n)}{c}} = \frac{\sigma_{1-2w}(m-n)}{\zeta(2w)}$$

can then be applied to give

(2.6)
$$\sum_{c=1}^{\infty} c^{-2w} \sum_{\substack{d=1 \ (d,c)=1}}^{c} e^{\frac{2\pi i dn}{c}} L_{\ell}(s;\frac{-d}{n}) = \frac{1}{\zeta(2w)} \sum_{m=1}^{\infty} \frac{a_{\ell}(m) \sigma_{1-2w}(m-n)}{m^{s}}$$

which is valid for Re(w) > 1 and Re(s) > $\frac{k+1}{2}$. On combining (2.4), (2.5), and (2.6) we get

(2.7)
$$\frac{\Gamma(k-1)}{(4\pi)^{k-1}} \sum_{j=1}^{h} \frac{L_{f_{j}, f_{k}}^{(w+k-1)}}{\langle f_{j}, f_{j} \rangle} a_{j}(n)$$

$$= \frac{a_{k}(n)}{n^{w}} + \frac{(2\pi)^{2w} \frac{k-1}{2}}{\zeta(2w)} \sum_{m=1}^{\infty} \frac{a_{k}(m) \sigma_{1-2w}(m-n)}{\frac{k+1}{2} - w} I_{w}(\frac{m}{n})$$

where

(2.8)
$$I_{\mathbf{w}}(\mathbf{x}) = \frac{1}{2\pi i} \int_{\alpha - i\infty}^{\alpha + i\infty} \frac{\Gamma(\frac{k+1}{2} - \mathbf{w} - \mathbf{s})\Gamma(\frac{k-1}{2} + \mathbf{s})}{\Gamma(\mathbf{w} + \frac{k-1}{2} + \mathbf{s})\Gamma(\frac{k+1}{2} - \mathbf{s})} \mathbf{x}^{\mathbf{s}} d\mathbf{s}.$$

Since $k \ge 12$, the right side of (2.7) converges absolutely for $1 < \text{Re}(w) \le 2$ and $\alpha < -\text{Re}(w)$, say.

The integral in (2.8) can be computed as follows. If x < 1

(2.9)
$$I_{w}(x) = \sum_{m=0}^{\infty} \frac{(-1)^{m}}{m!} \frac{\Gamma(k-w+m)}{\Gamma(k+m)\Gamma(w-m)} x^{\frac{k+1}{2}-w+m}$$
$$= \frac{\Gamma(k-w)}{\Gamma(k)\Gamma(w)} x^{\frac{k+1}{2}-w} F(k-w,1-w,k;x)$$

since $\Gamma(z)$ has poles at z=-m with residue $\frac{\left(-1\right)^{m}}{m!}$. Similarly, for x>1

(2.10)
$$I_{w}(x) = \frac{\Gamma(k-w)}{\Gamma(k)\Gamma(w)} x^{-\frac{k-1}{2}} F(k-w, 1-w, k; x^{-1}).$$

Moreover, by continuity, these results are also valid when x = 1; and, in fact, using Gauss' formula

$$F(\alpha,\beta,\gamma;1) = \frac{\Gamma(\gamma)\Gamma(\gamma-\alpha-\beta)}{\Gamma(\gamma-\alpha)\Gamma(\gamma-\beta)}$$

we have

(2.11)
$$I_{\mathbf{w}}(1) = \frac{\Gamma(\mathbf{k}-\mathbf{w})\Gamma(2\mathbf{w}-1)}{\Gamma(2)^{2}\Gamma(\mathbf{k}-1+\mathbf{w})}.$$

It, therefore, follows from (2.7), (2.9), (2.10), (2.11) and the functional equation for the Riemann zeta function that

THEOREM (2). Let $g(z) = \sum_{n=1}^{\infty} b_n e^{2\pi i n z}$ be a cusp form of weight k for Γ . Define

$$B_{m}(s) = \frac{\Gamma(s)\Gamma(2k-1-2s)}{\Gamma(k-1)\Gamma(k-s)} \zeta(2k-1-2s) \frac{b_{m}}{s}$$

$$Y_{m}(s) = \sum_{n \le m} \frac{b_{n}\sigma_{2s+1-2k}(m-n)}{m^{s}} F(s,s+1-k,k;\frac{n}{m})$$

$$+ \sum_{n \ge m} \frac{b_{n}\sigma_{2s+1-2k}(n-m)}{n^{s}} F(s,s+1-k,k;\frac{n}{n})$$

Then

$$(\frac{\pi}{m})^{k-1} \int_{j=1}^{h} \frac{R_{f_{j},g}(s)a_{j}(n)}{\langle f_{j},f_{j}\rangle} = B_{m}(s) + B_{m}(2k-1-s) + \frac{\Gamma(s)\Gamma(2k-1-s)}{\Gamma(k)\Gamma(k-1)} Y_{m}(s).$$

The functional equation for $R_{f_j,g}(s)$ immediately implies

$$Y_{m}(s) = Y_{m}(2k-1-s),$$

but this could just as easily have been obtained from the Gauss transformation

(2.12)
$$F(\alpha,\beta,\gamma;z) = (1-z)^{\gamma-\alpha-\beta}F(\gamma-\alpha,\gamma-\beta,\gamma;z).$$

Curiously, (2.12) can also be used to give a novel proof of (1.2), the functional equation of the Rankin-Selberg zeta function.

As an example of a special case of Theorem (2), we put k = 12, s = 10 and

$$g(z) = \sum_{n=1}^{\infty} \tau(n) e^{2\pi i n z}$$

to be the Ramanujan cusp form of weight twelve. It follows that

$$\frac{10! L_{g,g}(13)}{(4\pi)^{11} < g,g>} \tau(m) = \left(\frac{24\zeta(3)}{11} m + \frac{1}{m^2}\right) \tau(m)
+ \frac{24m}{11} \sum_{n \le m} \tau(n) \sigma_{-3}(m-n) \left(5 - 6\frac{n}{m}\right)
+ \frac{24m}{11} \sum_{n \ge m} \tau(n) \sigma_{-3}(n-m) \left(\frac{m}{n}\right)^{10} \left(5 - 6\frac{n}{m}\right).$$

§3. Using the methods of §1 it is possible to derive explicit formulae relating partial sums of the type (1.1) with sums going over the eigenvalues of the Laplacian. For example, we can obtain

THEOREM (3). Let
$$x \longrightarrow \infty$$
 and $\varepsilon > 0$ be fixed. Then
$$\sum_{n=1}^{\infty} a_n \overline{b_{n+m}} e^{-\frac{n}{x}} << x^{k-\frac{1}{2}+\varepsilon}$$

where the <<-symbol depends only on ϵ and m.

The proof of Theorem (3) uses the fact that there are no eigenvalues in $(0,\frac{1}{4}]$ for the group Γ . This, however, may not be the case for arbitrary groups; although it is conjectured that there are no eigenvalues in $(0,\frac{1}{4})$ for any congruence subgroup of $\mathrm{SL}_2(\mathbf{Z})$.

Let Γ' be any fixed congruence subgroup of $\mathrm{SL}_2(\mathbf{Z})$, and let

$$\lambda_{j}^{\prime} = \frac{1}{4} + r_{j}^{\prime 2} \qquad (\lambda_{0}^{\prime} = 0 < \lambda_{1}^{\prime} \leq \lambda_{2}^{\prime} \leq \ldots)$$

be the eigenvalues of the Laplacian in $L^2(\Gamma' \setminus H)$. Put

$$a = \max_{j} |Re ir_{j}|.$$

$$\sum_{n=1}^{\infty} a_n \overline{b_{n+m}} e^{-\frac{n}{x}} << \begin{cases} k - \frac{1}{2} + a \\ x \end{cases} \quad a > 0$$

$$k - \frac{1}{2} + \epsilon \quad a > 0$$

$$k - \frac{1}{2} + \epsilon \quad a > 0$$

The <<-symbol depends only on ϵ , m and Γ '.

In the case that a > 0, it is possible in many cases to replace the upper bound in Theorem (4) by an asymptotic relation. We also remark that all of our Theorems remain valid if the $\{b_n\}$ are taken to be Fourier coefficients of Eisenstein series.

POINCARÉ SERIES

§4. BIBLIOGRAPHY

- [Ne] H. Neunhöffer, Über die analytische Fortsetzung von Poincaréreihen, Sitz. Heidelberger Akad. Wiss., 2. Abhandlung (1973), pp. 33-90.
- [Ni] D. Niebur, A class of nonanalytic automorphic functions, Nagoya Math J., Vol. 52 (1973), pp. 133-145.
- [S1] A. Selberg, Bemerkungen über eine Dirichletsche Reihe, die mit der Theorie der Modulformen nahe Verbunden ist, Arch. Math. Naturrid, 43 (1940), pp. 47-50.
- [S2] , On the estimation of Fourier coefficients of modular forms, Proc. Symp. Pure Math, AMS, Vol. VIII, Theory of Numbers (1965), pp. 1-15.

Dorian GOLDFELD M.I.T. Department of Mathematics Box 2155 CAMBRIDGE Mass. O2139 U.S.A.